LINEAR ALGEBRA PROJECT

Part 3 (groups of 2 are allowed)
Using your results from the last project:

1. Create an orthonormal basis for your range of A.  Add these vectors to your 3-D version.
a. Check your work!


2. Using the same basis you used last time for the row space of A create a vector, 
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 is a linear combination of the basis vectors, 
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a. Let 
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 be such that 
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i. Find 
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b. Write 
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 as a linear combination of 
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c. Put all three vectors from part (b.) on the 3-D model of your im(A).

3. Choose a vector that does not lie in either the rowspace(A) or the im(A).  Find the projection of this vector onto one of the basis vectors for the rowspace(A) and find the projection of this vector onto the basis vector for ker(A).  
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